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Q1. Tick the correct answer.

a) The Standard Unit of measuring capacity is-

a. Litre b. Bucket c. Glass

b) The Non Standard Unit for measuring length is-
a. Metre b. Kg c. Hand span

c) Quarter can be written as -
a. 3/4 b. 1/2 c. 1/4

d) How many Quarters are there in a whole ?

a. One b. Two c. Four

Q2. Fill in the blanks by putting correct Unit of Measure.

a) Teain a kettle

b) Water in a bottle

c) Length of the knife

d) A big bag of rice




Q3. Write the tables of 12 and 13.

12 X 1 =
12 X 2 =
12 X 3 =
12 X 4 =
12 X 5 =
12 X 6 =
12 X 7 =
12 X 8 =
12 X 9 =
12 X 10 =

Q4. Solve these.

Kg g
a) 455 040
+150 010

m cm

C) 619 12

+ 128 19

13 X 1
13 X 2
13 X 3
13 X 4
13 X 5
13 X 6
13 X 7
13 X 8
13 X 9
13 X 10
I mi
b) 519 045
-146 038
I ml
d 283 050
-128 029




Q5. Solve the following word problems:
a) Seema had a rope which was 45 metres long. She used 23 metres

of rope for craft work. How much rope is left with her?

b) Length of one side of square is 12 cm. What is the length of all the

sides of the square?

c) A buffalo gives 9 litres of milk every day. How much milk will it give

in the month of October?

d) Riya grew 45 kg rice. Reyansh grew 54 kg rice. How much more rice did
Reyansh grow ?

Q7. A bucket has a capacity of Draw the number 250 |
of cups that can fill it. L

Q6. Fill in the following blanks :-

a) 5m= cm

b) 81 = ml.
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C) 7kg=

«

Q8. Draw lines of these lengths with your ruler.

a) 8cm-—

b) 6.5cm -

Q9. Colour Y or Y, part of these figures.

A

1/2

Q10. Find the weight of the following from the given weights.

359 429

a) 3Balls +1Pouch +3IceCreams =

) 2Mangoes + 4 Pouches

C) 1Ball + 3 Ice Creams =

N
NI

3/4




